//SQLJ version
public boolean ProveraNemaPolozeno(int IDStu, int IDPre){

#SQL iterator ProveraPolozenog(int , int);
ProveraPolozenog kursorProveraPolozenog;

#SQL kursorProveraPolozenog = { SELECT P.IDStu AS "IDStudent",
P.Ocena AS '"StudentOcena"

FROM POLAGANJE P, ISPIT I
WHERE P.IDStu = :IDStu
AND P.Ocena > 5
AND P.Status = 'V'
AND P.IDISp = I.IDIsp
AND I.IDPre :IDPre };

int IDS, OcC;

#SQL {FETCH :kursorProveraPolozenog INTO :IDS, :0cC};

while (!kursorpProveraPolozenog.endFetch())

{
System.out.println("student " + IDS +

polozio sa ocenom " + 0C);
#sQL {FETCH :kursorProveraPolozenog INTO :IDS, :0c};

kursorProveraPolozenog.close();
return false;

kursorProveraPolozenog.close();
return true;



